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4.(1) S"={x,y)x>0,y=0}: 85 ={x,y)x=0 x>0,y=0{.S={(xy)x20}

@) S = {(x, y)‘O <x?+y? <1}; oS = {(x, y)‘x2 +y2=0 x?+y? :1};

S = {(x, y)‘x2 +y? sl}.

O<xsl,y:sin1 x=0,-1< ysl};
X

(3) S"=9. oS ={(X, y)

§={(x,y)0<xsl,y=sin1 x=0-1< ygl}_
X

5.(1) S ={x1}

27 . 2« A7 . 4rx 6r . 6rx 87 . 8rx
S'={(1,0),(cos—,sin—), (cos—, sin—), (cos—, sin —), (C0S—,Sin —) -
(2) {( ), ( = 5)( E 5)( g 5)( c 5)},

@) S ={xyly? —x*+1<0]
2
L(1) D={xy)|x*+y? <L y>xf
(2) D={xy,2) x>0,y>0,2>0}
(3) D={xy,2)|r? <x?+y?+22 <RZ|

@ D={xy.2)||d<x®+y? x +y? 20}
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2. f(x)=

3. f(X)=x2+2x, z(X,y)=Xx+4y —1.
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8. (1) 0
2 1 -1
3 0
11. Lagrange f(x)—f(y)=1"(E)(x-y).
12 |f(X’Y)—f(xo’y0)|§|f(X’Y)—f(X7YO)|+|f(X7y0)_f(xo'YO)|-
3
3. fa-ta-ty_fa-tioh e,
2n 2n n n
5 1 X0+ Yo) Jim - f(x,y) =+ R>0
XS +y =+
x* +y?>R? FOGY) > F(X0,Y0) (X Y) {(x,y)| x* +y* <R’}
R2
2 (X0, Yo) f(X0,Y0)>0 Jim f(x,y)=0 R>0
X"+y" >+
x?+y? >R’ Fy) < flxov0)  f(x) {(xy)| x* +y® <R%}
R? f(Xg,Y,) <0
im - f(x,y)=0 R>0 x? +y? >R? f(xy)> (X, Yo)
X"+y" >+
f(x,y) {(x,y)| x* +y? <R’}
R2
6 R" f a
b £ () =[x f| =
X
8. : ¢edD, b (X €D, %, >¢),  {f(x)}
s . : 9(s),
F(x): f(x) xeD
g(x) X e oD



